
Poštevanka števila 8

Pajek ima osem nog. Koliko nog imajo trije pajki?

  

8 + 8 + 8 = 24

8 + 8 + 8 + 8 = 32

8 + 8 + 8 + 8 + 8 + 8 + 8 = 56

  1 . 8 = 8   5 . 8 = 40
  2 . 8 = 16   1 . 8 = 8
  3 . 8 = 24 11 . 8 = 88
  4 . 8 = 32 10 . 8 = 80
  5 . 8 = 40   3 . 8 = 24
  6 . 8 = 48   8 . 8 = 64
  7 . 8 = 56   4 . 8 = 32
  8 . 8 = 64   9 . 8 = 72
  9 . 8 = 72   2 . 8 = 16
10 . 8 = 80   6 . 8 = 48
11 . 8 = 88   7 . 8 = 56
12 . 8 = 96 12 . 8 = 96

Pajek ima osem nog. Koliko nog ima
devet pajkov?
Nariši:

Račun: 9 . 8 = 72
Odgovor: Devet pajkov ima  72  nog.

Ime: ______________________________

Datum: ____________________________


